### ORDINANCE NO. 350

AN ORDINANCE LEVYING ASSESSMENTS AGAINST VARIOUS PERSONS AND THEIR PROPERTY FOR THE PAYMENT OF A PART OF THE COST OF IMPROVING AND PAVING PORTIONS OF THE FOLLOWING ALLEYS IN THE CITY OF MESQUITE, TEXAS, TO-WIT:

#### ALLEYS LOCATED BETWEEN:

- 1. Oleander Trail & Astor Rd. from Oates Dr. to Whitson Way.
- 2- Woodbridge Way & Fielding Dr. from Military Parkway to Scyene Rd.
- 3. Sherwood Dr. & Scottsdale St. from Modlin St. to San Marcus St.
- 4. Hogan Dr. Sandra Lynn & Demaret from Sarazen to Sandra Lynn.
- 5. Sandra Lynn & Kiamesha from Kiamesha to Tam O'Shanter.
- 6. Klamesha Way & Sandra Lynn from Strayhorn to Hogan Dr.
- 7. Scottsdale & Harvey from Oates Dr. to Modlin Dr.

PROVIDING FOR THE TIME WHEN SUCH ASSESSMENTS BECOME DUE AND PAYABLE, THE RATE OF INTEREST, AND FIXING A CHARGE AND LIEN AGAINST SAID PROPERTY AND MAKING SAID CHARGE A PERSONAL LIABILITY OF THE PROPERTY OWNERS OWNING PROPERTY ABUTTING ON SAID ALLEYS, AND PROVIDING FOR THE COLLECTION THEREOF; AND DECLARING AN EMERGENCY.

WHEREAS, heretofore a resolution was duly adopted by the City Council ordering the improvements of said alleys by paving with five (5) inch thick 2,500 P.S.I. reinforced concrete pavement eight (8) feet wide, and,

WHEREAS, pursuant to said resolution, specifications were prepared for waid work by the Director of Public Works, filed with said Council, examined, approved, and adopted by it, all as required by applicable law; and,

WHEREAS, thereafter in compliance with the law the Director of Public Works prepared his statements or lists showing the names of property owners upon said alleys, the description of their property, the total cost of the said improvements, the cost thereof per front foot and the cost of each property owners, said statements possessing all the other requisites required by law; and,

WHEREAS, thereafter the said statements were filed with the City Council and by them examined and approved and a resolution was passed by said Council determining the necessity of making an assessment for part of the cost of said pavement against property owners and their property, and fixing a time and providing for a hearing to such property owners, their agents, or attorneys; all in accordance with the terms of applicable law, at which hearing said owners were to be heard as to the benefits of the said improvements to their property, as to any error or invalidity in said proceedings, or to any matter or thing connected with the said improvements; and,

WHEREAS, the said resolution in connection with the improvement of said alleys was duly adopted in compliance with the law on the 7th day of November, 1960; and,

WHEREAS, thereafter, in accordance with the terms of the law, the City Secretary of the City of Mesquite gave notice to the property owners on said alleys, their agents and attorneys, of said hearing, by publishing a copy of said resolution in the Texas Mesquiter, a weekly paper of general circulation in the City of Mesquite ten days prior to the days set for the hearing, to-wit, the 5th day of December, 1960; and the City Secretary also gave notice of said hearing by posting letters containing the same to said property owners, their agents and attorneys, ten days before the said hearing; provided, however, that any failure of the property owners to receive said notices shall not invalidate these proceedings; and,

WHEREAS, said hearing was had at the time and place mentioned in the said resolution and notice, to-wit, on the 5th day of December, 1960, at 2:30 o'clock P.M., at the Council Chamber in the City Hall of the City of Mesquite, Texas, which hearing was closed on the 5th day of December , 1960; and,

WHEREAS, at said hearing, all desiring to contest the assessments, correct the same, or in any manner be heard concerning the benefits thereof, or in any other matter, were heard, and errors and all matters of error or mistake or inequalities or other matters requiring rectification which were called to the attention of the Council were rectified and corrected;

Now, Therefore,

BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF MESQUITE, TEXAS: THAT,

SECTION 1. That the action of the City Council closing the hearing and overruling the protests at the public hearing on the 5th day of December, 1960, in these proceedings is hereby ratified and confirmed by this ordinance. That the City Council, from the evidence, finds that the assessments herein levied should be made and levied against the respective parcels of property abutting upon the alleys hereinbelow mentioned and against the owners thereof, and that such assessments and charges are right and proper, and are substantially in proportion to the benefits to the respective parcels of property by means of the improvement in the unit or district for which such assessments are levied, and establish substantial justice and equality and uniformity between the respective owners of the respective properties and between all parties concerned, considering

the benefits received and burdens imposed, and further finds that in each case the abutting property assessed is specially benefited in enhanced value to the said properties by means of the said improvements in the unit or district upon which the particular property abuts, and for which assessment is levied and charge made, in a sum in excess of the said assessment and charge made against the same by this ordinance, and further finds that the apportionment of the cost of the improvements is in accordance with the law in force in this City and the proceedings of the City heretofore had with reference to said improvements and is in all respects valid and regular.

SECTION 2. There shall be and is hereby levied and assessed against the parcels of property hereinbelow mentioned, and against the real and true owners thereof (whether such owners be correctly named herein or not), the sums of money below mentioned and itemized shown opposite the description of the respective parcels of property, and the several amounts assessed against the same, and the owners thereof, as far as such owners are known, being as follows:

#### SEE ATTACHED EXHIBIT "A"

SECTION 3. Where more than one person, firm or corporation owns an interest in any property above described, each said person, firm or corporation shall be personally liable only for its, his or her pro rata of the total assessment against such property in proportion as its, his or her respective interest bears to the total ownership of such property, and its, his or her respective interest in such property may be released from the assessment lien upon payment of such proportionate sum.

SECTION 4. The several sums above mentioned and assessed against the said parcels of property and the owners thereof, and interest thereon at the rate of six per centum (6%) per annum, together with reasonable attorney's fees and costs of collection, if incurred, are hereby declared to be and are made a lien upon the respective parcels of property against which the same are assessed, and a personal liability and charge against the real and true owners of such property, whether such owners be named herein or not, and the said liens shall be and constitute the first enforceable lien and claim against the property on which such assessments are levied, and shall be a first and paramount lien thereon, superior to all other liens and claims except State, County, School District and City ad valorem taxes.

The sums so assessed against the abutting property and the owners thereof, shall be and become due and payable as follows, to-wit: in twenty-four (24) equal installments, the first payable on or before thisty (30) days from the completion and acceptance of the improvements in the unit or district upon which the property abuts, and one (1)

The state of the s

each month thereafter until the total amount is paid; deferred payments shall bear interest from the date of such completion and acceptance at the rate of six per centum (6%) per annum, payable monthly with each installment, so that upon the completion and acceptance of the improvements in a particular unit or district, assessments against such completed and accepted unit or district shall be and become due and payable in such installments, and with interest from the date of such completion and acceptance. Provided, however, that any owner shall have the right to pay the entire assessment, or any installment thereof, before maturity, by payment of principal and accrued interest, and further provided that if default shall be made in the payment of any installment of principal or interest promptly as the same matures, then the entire amount of the assessment upon which such default is made shall, at the option of the said City of Mesquite, or its assigns, be and become immediately due and payable, and shall be collectible, together with reasonable attorneys' fees and costs of collection, if incurred.

SECTION 5. That if default be made in the payment of any of the said sums hereby assessed against said property owners and their property, collection thereof shall be enforced either by the sale of the said property by the Assessor and Collector of Taxes of the City of Mesquite as near as possible in the manner provided for the sale of property for non-payment of ad valorem taxes; or at the option of the said City of Mesquite the payment of the said sums shall be enforced by suit in any court having jurisdiction.

SECTION 6. That for the purpose of evidencing the several sums payable by said property owners and the time and terms of payment, and to sid in the enforcement thereof, assignable certificates shall be issued by the City of Mesquite upon the completion and acceptance of the said work of improvement, which shall be executed by the Mayor, signing the same or by his facsimile signature impressed thereon, attested by the City Secretary, under the impress of the corporate seal, and shall be payable to the City of Mesquite, or its assigns, which certificate shall declare the said amounts and the time and terms of payment thereof, and the said rate of interest payable thereof, and shall contain the name of the owner and the description of his property by Lot or Block Number or front feet thereof, or such description as may otherwise identify the same by reference to any other fact, and if said property shall be owned by an estate, then the description thereof as so owned shall be sufficient.

And the said certificates shall further provide that if default shall be made in the payment of any installment of principal or interest thereon, when due then at the option of the said City of Mesquite being the owner and holder thereof, the whole of the said assessment shall at once become due and payable and shall be collectible with reasonable attorney's fees and costs if incurred.



And the said certificates shall further set forth and evidence the said personal liability of the owner and the lien upon his premises, and shall provide that if default shall be made in the payment thereof, the same may be enforced either by sale of the property by the Tax Assessor and Collector of the City of Mesquite, as above recited, or by suit in any court having jurisdiction.

And the said certificates shall further recite that the proceedings with reference to making said improvements have been regularly had in compliance with the terms of the applicable law, and that all prerequisites to the fixing of the lien and claims of personal liability evidenced by such certificates have been performed, which recitals shall be evidence of the facts so recited and no further proof thereof shall be required.

That the said certificates shall also provide the amounts payable thereunder shall be paid to the Assessor and Collector of Taxes of the City of Mesquite, who shall credit said payments upon the said certificates, and shall immediately deposit the amounts so collected with the City Treasurer of the City of Mesquite, to be kept and held by him in a special fund, which is hereby designated as City of Mesquite Alley Improvement Fund, and which payments shall be by the Treasurer paid to the said City of Mesquite or other holder of the said certificates, on presentation thereof to him, duly credited by Assessor and Collector of Taxes, the said credit by said Assessor and Collector of Taxes being the Treasurer's Warranty for making such payment and the said City of Mesquite or other holder of said certificate, shall receipt in writing to said Treasurer when paid in full, together with all costs of collection.

And the said certificates shall further provide that the City of Mesquite shall exercise all legal power, when requested so to do by the holder of said certificate, to aid in the collection thereof; but the City of Mesquite shall in no wise be liable to the holder of said certificates or for any costs or expense in the premises, or for any failure of the said City Council or any of its officers in connection therewith.

Full power to make and levy reassessments, and to correct mistakes, errors, invalidaties or irregularities, either in the assessments or in the certificates issued in evidence thereof, is in accordance with the law in force in this City, vested in the City.

SECTION 7. All assessments levied are a personal liability and charge against the real and true owners of the premises described, notwithstanding such owners may not be named, or may be incorrectly named.





SECTION 8. The assessments herein levied are made and levied under and by virtue of the terms, powers and provisions of an Act passed at the First Called Session of the Fortieth Legislature of the State of Texas, known as Chapter 106 of the Acts of said Session, with amendments thereto, now shown as Article 1105b of Vernon's Texas Civil Statutes, which said law has been adopted as an alternative method for the construction of street and alley improvements in the City of Mesquite, Texas, and Section 12 of Article III of the Charter of the City of Mesquite;

Section 12. The act by the Legislature of the State of Texas in 1927 and shown as Chapter 106, Acts of the First Called Session of the Fortieth Legislature, together with all amendments thereof, said Act with amendments being shown as Article 1105b, Vernon's Annotated Revised Civil Statutes of the State of Texas, is hereby embraced in and made a part of this Charter.

SECTION 9. The assessments so levied are for the improvements in the particular unit or district upon which the property described abuts, and the assessments for the improvements in one unit or district are in nowise related to or connected with the improvements in any other unit or district, and in making assessments and in holding said hearing, the amounts assessed for improvements in one unit or district have been in nowise affected by any fact in anywise connected with the improvements or the assessments therefore in any other unit or district.

SECTION 10. The fact that in order to finance these improvements in an expeditious manner creates an urgency and an emergency in the immediate preservation of public peace, health, and safety and required that the rules providing for ordinances to be read more than one time, or at more than one meetingbe suspended, and that this ordinance be passed as and take effect as an emergency measure, and such rules are accordingly suspended and this ordinance is passed as and shall take effect and be in force as an emergency measure, and shall be in force and effect immediately from and after is passage.

PASSED by the City Council of the City of Mesquite, Texas, on the  $\frac{5}{}$  day of December , 19 60.

James Houten of

ATTES

City Secretary

AND THE PROPERTY OF THE PARTY O

[

SEPTEMBER TO SEPTE

			And the second s
AWBY P	aving between oleande	R TRAIL AND AS	TOR • BOAD
WAR TO THE TANK OF	FROM CATES DRIV	b to neithon m	
A SAME OF THE SAME	PROPERTY	· ALLEY	UNIT
	DESCRIPTION	Zacatza Gr	COST AMOUNT
	Whitson Gardens #1 4	<b>49</b>	
The second secon	Block B	•	
Mobert B.Henderson	Jr. Lot 1	- <del>- 70</del>	\$2.00/fts.\$140.09_
	***		A STATE OF THE STA
4522 Cleander Trei	Lot 2	60	2.00/11. 120.00
And Statement and	1		
Andrew Van Vooren	Lot 3	60 -	2.00/21, 120.00
4528 Oleander Trai	1		
Conrad L. Saith	Lot 4	58.04	3.00//6. 1/6.08
4524 Oleander Trail	a. The second grants.	a unimerate englasticata in intercella	
	A DAY A STATE OF A STA	ngens in ing maganingan ayan pajamayan ayan ana ana ayangiri ayan ana ana ana ana ana ana ana ana ana	
Lrwin C. Barris	Lot 5	57.80	2.00/54. 118.40
		in the second se	
Victor R. Kannedy,	r. lot 6	57.05	2.99/fs. 115.70
Mild Cleander Trail		The same and the s	
Minford R. William	tot 7	772.67	<b>1.00</b> /45 /45 /45
Marider Trail		A STATE OF THE STA	
Ger D. May	Lot 8	72.62	2.60/££. 145.24
4500 Mander Trail			e de la companya del companya de la companya de la companya del companya de la companya del la companya del la companya de la companya de la companya del la companya de la companya del la companya del companya del la companya del companya del la companya del la companya del la companya del
SeedSOA GLASSIAN Frank			"T-00/85, 145.22
	many may be a second of the se	A Control of Control	
Section 1. Section	The second secon	82.79	8.00/ft, 165.56
debte Heritage	Lot 1	100	3.30/et 7167.16
LAND CONTRACTOR	the same second with a first of	in the property of the fields	
senath 3. Potter	tot 12	61.00	2 20/64 123 34
LIOS Letor	A STATE OF THE STA	- Angle An	A CONTRACTOR OF THE PROPERTY O
Maria Maria			
			3, W/FE 1. 101.10
		**************************************	
	de la companya de la		

Reference for the second secon				
	angle in process of the property of the second	en gran y State (name) namen and a ser a seguin		
And the state of t	etigate dia 3 merenanya mpir mandapa kinadapatentahan kanadapatentahan	Activities and Arthurson and for the same of	The state of the second se	eren oraș e en e
The second second	Kiene sita kie d	lock a		
			and the second	
Section 19				
A COSTATY LEGISLAND CONTRACTOR	PROPERTY	THE PARTY OF THE P		1000
El and discount	DESCRIPTION	PACETROE	1402	MOUNT
malph L. Gassett	" Lot 15	65.59	\$2.00/£\$.	NILLIE I
Mall vetor			The control of the co	The second second
		جوادي في العربية التي التي العرب العرب العرب العرب التي التي التي التي العرب	nereline en gregor i de la companya	-
Tack 2.8. Thompson	Lot 16	69	2.00/ft.	138,00
MALE MALOE			The state of the s	
W-201114um W. Bodon	Lot 17.			the state of
4525 Autor	MGE 11.	69.27	3.00/25.	198.34
		•		
Verry N. McGowan	tat 10	• 60	2.00/st.	7 40 BA
	201 20		A.VV/ 5 to	
	*	• •		
Jim W. Reed	Lot 19	60	2.00/£t.	120 00
4533 · Astor	·,			
	• •		The state of the s	THE RESIDENCE OF THE PARTY OF T
H. S. Manning	Lot 20	70	2.00/ft.	140.00
AS 37 Agtor	A CANAL STATE OF THE STATE OF T		and the second s	
	n in the second of the second	Same at 18, 24 .	ASTRONOM STATE	# 636.48
			A CONTRACTOR	-
State Control of the	•		•	
The state of the s	e na napada benguluska bangabak kulon di kalabas na na labas na na salah sa salah sa salah sa salah sa salah s	en gest en	in the state of th	2-22
	•	and the second of the second o	Total and the second se	
		الموجودية المستقدية المستقدية المستقدية المستقدية المستقدية المستقدية المستقدة المستقدة المستقدة المستقدة المس المستقدمة المستقدة ا	and the same of	
	and a state of the second of t	aring di ngandinaka da nasa sa katapan sa tip magaganisa aya Nganting di Salah ni nganting katapan katapan da katapan di ngantangan da katapan di ngantangan da katapan di n		And the state of t
	•			
Marie Carris de la companya del companya del companya de la compan			Control of the second	Construction of the
TO THE STATE OF TH	. The second	موروب هرای از این از	A STATE OF THE STA	Total Tall Service

## ALLEY PAYING RETRIES WOODBRIDGE MAY & PIBLDING DRIVE PROM MILITARY PARKWAY TO SCYENE ROAD

PROPERTY	PROPERTY DESCRIPTION	ALLEY PRONTAGE	UNIT COST	
	ollingwood Hills Block P	The state of the s	er in terminal production and temperature of the second sec	
Moodrow W. Dill 101 Woodbridge Way	Lot 1	<b>75</b>	\$2.00/ft.	
Chancy 105 Woodbridge Way	Lot 2	60	2.00/ft.	120.00
McLee Taylor	Lot 3	<b>60</b>	2.00/ft.	120.00
W. Rey Moodbridge Way	Tot 4	× 53.55	2.00/ft.	107, 10
Bobby D. Probet	Lot 5	52.5	2.90/ft.	105.00
Guy Lewis	Lot 6	60	2.00/ft.	120.00
M. C. Terry, Jr.	Lot 7	· 60	2.00/ft.	220.00
gred M. Bishop 129 Woodbridge Way	Lot 8	60	2.00/£t.	120.00
Mrs. Halomi Parker 201 Woodbridge Wa	Lot 9	en e	2.00/ft.	120.00
105 Woodbridge Wa	Lot 10	60	2.00/gt.	120.00
Joe B. Barnett, Jr	105 11		2,00/ft.	
John L. Chambless 213 Woodbridge Ma	tot 12	60	2.00/Et.	180.00
Choman M. Campbel 217 Woodbridge We	1 Lot 13	50	2.00/£t.	120.00
J. C. Tidell Marthaedoridge Me	Lot 14		100/ft.	120 (B

				e constant and analysis of a second
MOPERTY	PROPERTY	ALIBY PROPTAGE	UNIT	LOCAL CONTRACTOR OF THE CONTRA
The state of the s	DESCRIPTION	The state of the s		
	Rollingwood Hills Block P	Total Company		
Max D. Freeman 225 Woodbridge Way	Lot 15	139.38	\$2100/St.	
Dowey W. Havkins 029 Woodbridge Way	Lot 16	76.06 <del>-70.25</del>	2,00/Et.	
James C. Sismons 234 Fielding	Lot 17	75	3.00/14.	350.70
J. <sup>B</sup> . Queen 228 Fielding	Lot 18	20	2.00/ft.	30,0
E. W. Campbell, 222 Fielding	Lot 19	60	2.00/ft.	180.60
Billy T. Angel	incomm <b>Lot 20</b>	programme recommendation and the control of the con	2.00/1t.	A SULTANA PARA PARA PARA PARA PARA PARA PARA P
O. J. Amerson 214 Fielding	Lot 21	60	2.00/ft.	Section of the second
Noel W. Wylie	Lot 22	GO TO THE STATE OF	2.00/ft.	
David 7. Clarton 206 Fielding	Lot 23	60	2.00/ft.	
8. W. Roblin 202 Fielding	· Lot. 24	60	2.00/ft.	130.00
Joe Reeder	Lot 25	60	2.00/ft.	120.00
N. E. McLaughlin	Lot 36	(1) (1) (1) (1) (1) (1) (1) (1) (1) (1)	3.00/£t.	120.4
Cecil W. Sexton	and the Board of the same	60	2,00/ft.	7.00
R. Hill	Lot 28	60	2.00/21	120.00
. H. Gent	et 28	60	2.00/£t.	

~ ....

		<b>The Control of the C</b>		
ROPERTY	PROPERTY	THE RESERVE OF THE PERSON OF T	UNIT	TOTAL
	WACRIPPIOS	Morrice	COST	
	ollingwood Hills	and a second of the part of the second of the second		
	Block F			
W. L. Starks,Jr.	Lot 30	102	\$2,00/24.	204.00
LA Fielding				
R. P. Foshqu			2.00/8t.	120.00
ALC: NAME: N			THE PERSON	
Mouston Branit	Tot M	70	2.00/ft.	140.00
106 Pinisher		The second secon	er en de la companya	
Don Clements	Lot 33	28	1.00/2t.	150.00
102 Fig. 44 and		4-118-64		4×14
	The state of the s	5, // A.		
	manife proper specification of the	" distribute 2/18.49 "	Samuel Control of the State of	
erten er einsteaden felter er en en de state er en er en Met er en er en	Mente Care Company of Property Company	en de la companya de La companya de la co	The control of the second of t	
	gang street in George Street in the street gandling the secretary to the second secretary Street Street in the second	্রা ও । প্রায়েশ্য করিবলৈ কর্মান কর্মান কর্মান কর্মান ক্রান্ত্রের ক্রান্ত্রের ক্রান্ত্রের কর্মান কর্মান কর্মান কর্মান প্রায়েশ্য ক্রান্ত্রিক ক্রান্ত্রিক ক্রান্ত্রের ক্রান্ত্রিক ক্রান্ত্রের ক্রান্ত্র্যালয় ক্রান্ত্র্যালয় কর্মান		
		Market & Company of the Company		
		The spice of the spices to see	HANDEN COMPANY	A Commence of the
andre of the state				TO SERVICE THE SERVICE STATES
	Con the Contract of the Contra			
	No.	A Charles Sayer		Javen ma
And the second s			ACTIVITY AND A STATE OF THE PARTY OF THE PAR	
marketer er e		and the second of the second o	أنيم بالمامة والماريات	
	Marine Company			
		Action of the second of the se		
	A CONTRACT OF THE CONTRACT OF			
A state of the sta	er Gerier Ewings			The second secon
Contraction of the contraction o	The same and the same a	ting and the same of the same	Corte and Consultation	
A STATE OF THE PARTY OF THE PAR	and the second second	and and a second se	10 1 64 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	A CONTRACTOR OF THE PARTY OF TH

100												
	N. 12/01/1903	* 5WATE	THE PARTY CAN	A THE RESIDENCE AND ADDRESS OF THE PARTY AND A	war 1800 was		**************************************		<b>ICETTODA</b>	نيقات مساها		, -
	or and a site of a		2 de 1 - 10 de 1		1.00		30 1 4 1 5		CARSON SARANIA PA	<b>VER 48</b>		, -
1100	and sugar and	Witness Committee	4-4-4-4		take characteristics	Same of the last desired	·	included to the second section of the second	the state of the state of		THE PERSON NAMED IN	-
·	44.4 (6.4 1.1)											
					14 M M				STREET.	•	💌 🛡 💢 tijese	
	The second of	come in a second	and the second	Address of the same						منحب مستون والا		ů,

AREODERTY'	` .	ROPERTY	•	ALLEY	UNIT	TOTAL
CONTER		SCRIPTION		PROMINGE	COST	ABOULT
		42004 940			The second second	
	Cas	a View Bei	ghte	•	Medical Commence	
A STATE OF THE STA	#13	- Block 1	<b>.</b>		. S. a. Proc. a. a. specifikat, almost acceptation of the little	
		in a fer i 120€ Tanan Santan		74.6	्राच्याच्याच्याच्याच्याच्याच्याच्याच्याच्य	
Bob M. Maupin				•		A Company
36400 Scottadala	•	Lot 1	in the second	70.,	\$3.00/#t.	6140-00
Tabor				•	The state of the s	A Company of the Comp
4494 Scottedale		Lot 2	•	60 .	\$2.00/ft.	\$120 D
			•	•	7-100 161	
R. J. Huckabayee					ning no propagation and propagation of the contraction of the contract	
4406 Scottsdale		Lot 3		60	\$2.00/£t.	6120-00
an saintean de la companya de mandrat de la frança de la companya de seguina de la companya de la companya de La companya de la companya del companya del companya de la companya del companya del companya de la companya del companya del companya del companya del companya de la companya del compa	دودة والمهاجمة والمتابعة والمادة والمادة	many and the state of the	en en geben gebier i in Versyken	والمراجعة والمناورة	The state of the s	and the second
Curtis C. Wilson		, and analysis services against a	-	والمختفدية بالتجارع	and the same of the same of the same of	
4412 Scottsdale	•	Lot 4	· · · · · · · · · · · · · · · · · · ·	60	\$2.00/ft.	\$120,00
Perry S. Ashford						
1416 Scottsdale		Lot 5		60	40 00 /00	The same of the sa
garsagt view		1006 3	• •	60	\$2.00/ <b>2</b> t.	\$130.00
Loyd G. Stripling	•	•	•	• .	and the second	The Property of the Parks
4420 Scottsdale		Lot 6		60	\$2.00/ft.	\$12C.00
in market in the second	•	•		•	en e	Sugar Service
Wayne H. McMillan		•	,	·		• • • • • • • • • • • • • • • • • • •
4434 Scottedale		Lot 7	•	60.15	\$2.00/2t.	° \$120.30
		•		•	ه ومورات موهایت هرای این و از این	
Bernard Coken 4428 Scottsdale		Lot B				A STATE OF THE STA
		TOE 0		54.11	\$2.00/ft.	\$108.22
Expest Bruecher	t de resu		ng e ng ganggan	دينو دينو د د د د د د دينوسو	के पुरस्तान है के कुर्य के विश्व के दिन्दा है है जिस के अपने अपने के प्रतिकार के बात है है जिस है। कि हम का बुद्ध के स्वर्ण के कि	- Common of
4436 Scottsdale		Lot 9		21.45	\$2.00/ft.	\$ 22 63
					a management	Equation of the Section of the Secti
John H. Davidson						1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
4502 Scottedale		Lot 10	and the second second	-751.13	\$2.00/ft.	\$102.26
Robert of Frank and a second of the first of the second of		ing the second s	en e	্বৰ বিশ্ব বিশ্ব স্থা কৰিছে	्रात्य मध्यक्षासम्बद्धम्यस्य । सङ्ग्रहः स्टीकर् <b>ड्स</b>	A CONTRACTOR OF THE PARTY OF TH
M. Cohen		***			ا الاستان المساور المعاولات	
4510 Scottadale:	•	Lot 11		60.12	\$2.00/ft.	- F 10
James H. Clare				ere e e e e e e e e e e e e e e e e e e	and the second s	THE STATE OF THE S
4514 Scottedale	ा ४ । ध <b>र्मपुर्व</b> गरिका	Lot 13	and Tallia de la la	60	\$2.00/2t.	\$120.00
		A Charles				PLAU_LU
W. W. Fitzgerald	च का <i>नेतृत्ति</i> क्षेत्र विके	a manifest of the second of the second	क्षात्रकुरक् । युक्ता अवस्था	The same with the same of the	Land of the state	185
4518 Scottedule		Lot 13		60	#2.00/\$b	remains i Desemble

				A STATE OF THE STA	
The second state of the second	The state of the s		त्राच्या वर्षा क्षेत्र क्षेत्र वर्षाकृति प्राप्त क्षेत्र क्ष	A CONTRACTOR OF THE PARTY OF TH	
Care Wilse Solche	115 - Block 11	المراجعة ال وقد المراجعة المراجعة وقد المراجعة	And the second second second second		
The state of the s			1 may 1 may 1 may 1 may 1 mg 1 m	TO A TOWN THE THE PARTY OF	
	(AR) ang palatang sa tangga tangg Tangga tangga tangg		Alas Santa da Santa La composição de Carlos de Car		
	NO DESCRIPTION	AND THE PROPERTY.			
PROPERTY	PROPERTY		ALLEY	0917	TOTAL
	DESCRIPTI	<b>เลงเล</b> งไป กระเมื่อและรูช	<b>ECHTAGE</b>	COST	MCDT
and the second second	<b>₹</b>		ž.		
C. M. Williams		e arga i a e e e e e e e e e e e e e e e e e		د. رمایه هود داد داد از این ایران در هود ایر	- Salestin per a Santani principal
22.4522 Scottedale	Lot 14	The Page 1	. 60	\$2.00/2t.	\$120.00
	் வி. (இரும்) கூ	Cerys — probjek	gar garan San ar	A service of the service of	
D. D. 3411	The second se	Market State		Calendaria de Calendaria de Alexandaria de Alexandaria de Alexandaria de Alexandaria de Alexandaria de Alexanda Calendaria de Calendaria de Alexandaria de Alexandaria de Alexandaria de Alexandaria de Alexandaria de Alexanda	
4526 Soottedale	Lot 15		- 60	\$2.00/ft.	\$1.20 <u>.60</u>
Harry C. Dark	•	•	•		
4530 Scottedale	Lot 16	•	60	\$2.00/ft.	\$120.20
		* * * * * * * * * * * * * * * * * * *	•		
Rebert H. Riggian		· · · · · · · · · · · · · · · · · · ·		en e	The second second second
AAA Soptadale	106 17	7	60	\$2.00/st.	\$130.00
honald P. Daweon	The state of the s	A STATE OF THE STA	1		I MIN
4538 Scottedele	Lot 18	er en	30-10	82.00/gt	/20.00
					-7/401
R. I. McCwiler	And the Market Miles & Miles of States of States	A CONTRACTOR OF THE PROPERTY O	And the second s		
727 Sen Harris	Log 19	The state of the s	72.7	. 12.Douge.	\$145.00
L. C. Stokes	A Committee of the Comm				Mary Jan Mary Mary
A714 San Margus	146 20		40	42.00/4	\$120.00
The state of the s	A company of the company of the company		and the second second		As a constant of the constant of
R. E. Doolin			चित्र कर्जन के स्वर्धित है। इ.स.च्या	and the second of the second of the second of the second	The state of the s
4709 San Narcus	Lot 21	• • • • • • • • • • • • • • • • • • • •	60.	\$2.00/ft,	\$120.00
Manager and the second					a de Carlo
Sorace T. Dedley	200 40		74 8	44 00/46	\$145.00
4705 San Marcus	44	and the second s	A STATE OF THE STA	\$2.00/ft.	
Raymond # Rost			260	THE PARTY OF THE	MIN DE COMP
4532 Sherwood	Lot 23		80-10	\$2.00/ft.	1176.20
A Company of the Comp	make care of control of the state of the control of	eginera en esta esta p <mark>ela</mark> nte in la ca-	rance company to	ratings in successive and the second of the	A A A A A A A A A A A A A A A A A A A
Martin Swerts	ર પ્રાપ્ત (૧૯૯૬) હિલ્લો કર્યું છે. જેવા અને કે માટે છે. ૧૯૯૪ માટે છે. ૧૯૬૧ માટે જેવા માટે જેવા છે. જેવા છે. જેવા છે.	et jegi a kujaga edinagapaji (*). Janti (*) kujaga edinagapaji (*).	a di digenera di secondo di Secondo di Secondo di	ي وويون شاه در در پايد از يون ايد بيان در	\$120_60
APID EDECHOOL	or Adequation of the State of t		. 60	-\$2.90/£t.	\$120-60
The same week the comments			at the same		
					\$120.00
The second secon			Carlo	The state of the s	and the state of t
Mairh H. Stauffer	and the second		100	\$2.00/£t.	
	N. Marsharin	and the second second	P	44: 27 · · · · · · · · · · · · · · · · · ·	\$120.30
i. C. Perguson, J		made in a superior and	The street		STATE OF THE PARTY
MALA SPATTA		And the state of	160		esan one
		起来的对性处况			**************************************
		ngagaga gagagana sa kababaga sa sa			
			- I will have an an analysis of the	- A Charles and All Land Section Section 1985	te min test management if a second

December	A Commence of the Commence of		William and the second of the		en e		
### PROPERTY PROPERTY ALLEY DIT FORM.  #### C. Boxton, Or.  ###################################			grant and the second se	THE PERSON NAMED IN POST OF	Control of the second	AND THE PERSON OF THE PERSON O	
### C. Borton, Gr.  ###################################							
### C. Borton, Gr.  ###################################							
Entry C. Boston, Gr.  Entry C. Boston, Gr.  Entry C. Boston, Gr.  Entry C. Boston, Gr.  Entry C. Boston  ASC Sharter  Entry C. Burns  Entry C. Burn				AL	LEY	DHIT .	TOTAL
### Sold Sharraph    L. V. Barker			<b>ECRIPTION</b>	Ac military	Markous .		1、10.01:4.000 A.000 A
### Sherwood			in the second	and the state of t	435.	and the second s	
### Sherwood	ASOP Sterups		Lot 28		60	\$2.00/ft:	\$120.0C
Majoria C. Surps  A501 Eberrood  Lot 30  93.02 92.00/ft. \$196.04  Manual C. Barris  4623 Sharwood  Lot 32  93.17 \$2.00/ft. \$166.76  Manual C. Barris  4623 Sharwood  Lot 32  93.17 \$2.00/ft. \$166.76  Miles B. McLood  109 S. McLood  119 Sharwood  Lot 33  60  82.00/ft. \$120.00  Lot 34  60  92.00/ft. \$120.00  Lot 34  60  92.00/ft. \$120.00  Lot 35  Lot 34  60  92.00/ft. \$120.00  Lot 37  69.30  2.00/ft. \$138.00  Lot 37  69.30  2.00/ft. \$138.00  47.40.40  Lot 37  69.30  2.00/ft. \$138.00  Lot 37  69.30  2.00/ft. \$138.00  47.40.40  2.30.00		ragio and a		in the state of t			
### ### ### ### ### ### ### ### ### ##	San to the same of		and disease in	W	85.55	the state of the s	1171.10
### ### ### ### ### ### ### ### ### ##	Haldela C. By	The Control			(4) (4)		
Hansel C. Harris  423 Sharycod  Lot 32  93.17 \$2.00/ft. \$166.79  Whom S. McLeod  418 Eherwood  Lot 33  40  82.00/ft. \$170.06  Limits S. smith, 37:  All Sharycod  Lot 34  60  92.00/ft. \$120.00  Lois M. Peoples  4411 Sharycod  Lot 35  90  120/ft. \$120.00  Lot 36  447 44.46  230.00  230.00  247 44.46  230.00	Service - Sel Energy Co.	en e	# FOR 30		93.02	·\$2.00/25.	\$186,64
Mansel C. Harris 4423 Sharwood Lot 32  83.17 \$2.00/ft. \$166.35  418 Sharwood Lot 33  60  82.00/ft. \$120.00  Lois M. Peoples 3611 Sharwood Lot 34  60  82.00/ft. \$120.00  Lois M. Peoples 3611 Sharwood Lot 35  50  22.00/ft. \$120.00  Lois M. Ridges  4130.00  Lot 37  69.30  42.00/ft. \$138.60  33.00  47.00/ft. \$138.60  33.00  47.00/ft. \$138.60					State Francisco		
### ### ### ### ### ### ### ### ### ##	4427 Sherwood		Lot 31		93.04	\$2.00/ft.	THE REST OF THE PERSON AND THE PERSO
						en e	
### ### ##############################	or endergon trans	eng. •	Lot 32	en en en ge <del>neralis</del> e an en	83.17	\$2.00/£t.	\$166,34
### ### ### ### ### ### ### ### ### ##		and the state of t	gija ji ji jama kan ili sejena se Sejena sejena sejen	Andrew Sagrafia a Charles Magazina Sagrafia	e gregorie i sange dengarie Projection	the same of the sa	
Lois N. Peoples Lois N. Peoples Lois N. Peoples Lot 35 Lot 35 Lot 37 Lot			FOE 33		<b>. 60</b>	82.00/tt.	\$120_0C
Lots M. Peoples  1401 Sherrood  Lot 35  Sold M. Tridges  1403 Sherrood  Lot 37  69.30  82.00/ft. 8138.67  2912  1/240  232/0V		a, or		Man han and	d . A. no in large	Marine Art Miles Marine	
### ### ### ### ### ### ### ### #### ####		A AM MARK	2 LOC 34	and the second of the second o	en contami	43.00/2t.	\$120.00
1. 1. Caddenhead  1. 1. Caddenhead  1. 2. Caddenhead  1. Caddenhea	Lois M. People	*		e e e e e e e e e e e e e e e e e e e	mana dependent	April 1994 - San Arrivated	100000000000000000000000000000000000000
2. Caddenhead  10t 27 69.30 \$2.00/£t. \$138.6  393.30 7/2.40  732.00		3			<b>.50</b>	13.90/Et.	7120.00
1403 sparsond  144 37 69.30 \$2.00/\$£. \$138.60  323.00  - 1/2.40  - 32.00	THE R. P. LEW.	146		e operation in the second	e e e e e e e e e e e e e e e e e e e		The second of th
101 804X8000							<b>4130.</b> 00
73320	Ballandani at tare dade resistant at the control of	ad.	Total ST	An a radio septimina managatina Managanata	e i grand di ila		and the state of t
232.0				Control of the second	69.30	\$2.00/Ft.	\$139.60
232.0	A STATE OF THE PARTY OF THE PAR			referenting the	7 2	ones, linguistra de la li La linguistra de la linguistra	47 44.46
				7.3	2/04		- 11240
							465208
			The graph of the second			Alle Anti-Act of the Committee of the	
	16-16-16				TO STATE OF		
	Antonia de la companya del companya del companya de la companya de		and the same of the said	e de la companya de La companya de la co	alan a Marian de la companya del companya del companya de la compa		
							ne-
The state of the s			-		-		

			The second second		a la constant de la c
The second secon		and the second of the second o	Note that the second se		
		THE PARTY OF	Bandra Even Dardra Even	A DESCRIPTION	
				And the state of t	
PLOPMETT	PACER		ALLEY.		
	Denocal	Club #1	ZHOMINGE	233	
	TOTAL PROPERTY.			The second secon	
. G. Henrik	en Lo	<b>t 3</b>	The same of the sa	42,00/45	4140.00
2797 Tanétar		The state of the s		And the second second	
John Alves	<b>Lo</b>	2	60	2.00/24.	120,00
3562 Desegrat.	A CONTRACTOR OF THE PARTY OF TH		en e	নি বিভাগে প্রত্যা করিছে ক্রিক্টার করিছে। প্রত্যা বিভাগের বিভাক্তর স্থানিক ক্রিক্টার করিছে বিভাগির বিভাগির বিভাগির বিভাগির বিভাগির বিভাগির বিভাগির বিভাগি	Se sent and the se
Yohn R. Sime				3.00/21	120.00
PULL PROPE				organisas and the second of th	The second section
Bapne B. Dev.		A VAN SA	<b>30 50</b>	2.00/56	120.00
3535 Deparet			de la companya de la	A Part of the second	
3551 Degaret				2.00/8	130.00
	Section of the section	egyppategy (1921) a straffelyppategyfaffig (1921). A straffely (1921) a straffelyppategyfaffig (1921).		the state of the s	Commission of the second
D. Borgan	10		50	2.00/24	120.00
		Same of the second	real particles of the second control of the	an e nakazir engilak engilak Paraka <del>nak</del> an engilak angara	
1. L. Mand.	le.		The second secon	3.00/\$1	126.00
Sarold G. Br			62.18	2.00/24.	124.36
3519 Departs			<b>46.40</b>	7 W 25	144.30
D. B. Mayes			49.35	2.00/2t.	124-64
tilles becaret		And the second s			The state of the s
erikartar Plate			82243	12.00/2t.	124.B6
MAL Deserve	and the state of t	The second second			A Commission of the Commission
Earl D. Show	<b>. L</b>	: <b>11</b>	62.5	2.00/ft	125.00 B
Deserot	Company of the state of the sta		The second secon	THE RESERVE	The Company of the Co
Downle R. Bo	Leon		62,31	2.00/53	124.62
temy a. State	100	10	62-63	3.00/4	125.06
917 Despret					
C. R. Kirby	<b>Lot</b>	: 14	60	2.00/ft.	120.00
marina penarat		en e	mana jan da aran da ar	Andrew Commence of the second	The state of the s
		The second second	en de la companya de La companya de la co	er and the second secon	

		and the second second	Same and the same of the same		(5)
	and the second second second second	and the second second second	A STATE OF THE STA		
	THEOREM !		ncetage	2397	AMOUNT
Com	ntry Club #1, B			The horse	#120.00
111 Demaret	16t 15	•	8	44.00	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
D. H. Olson	Lot 16	sv	60 .	2.00/2t.	120.00
507 Descret	400 20	and the substitute is the substitute in the substitute is the substitute in the substitute in the substitute is the substitute in the substitute in the substitute in the substitute is the substitute in the subs	11 Miss	and the second	a Mi Z
S. N. Bolton	305 12	- HILL	92-6	2.00/24	120,00 303,00
					A CANADA MANAGEMENT
Lakey Belo	19t 18	en de la companya de La companya de la co	75	2,00/25	150.00
Will Broken Lynn		A Lower	and ordered	hagan kan digi padi dinastri ng ngapagangan.	
H.H. Thompson, Jr.	Lot 19		60	2.00/£t.	120.00
4625 Sandra Lynn					
B. W. Davis 4615 Bandre Lynn	Lot 20	and the second	13	2.00/ft.	26.00
		United States	in the same of the	A TOP	39.30
LEGAL Bentes Leves	AU LANGUE		10 M. C. Marie 14		
b C. Vetson	Lot 32	and the second	<b>60</b>	2.00/24,	120.00
ill Sandra Lerna					And the second second second
y, T. Jetta	See All	10 mm	1.10	1.20/04	120.00
THE SERVICE VIEW			-		A CONTRACTOR OF THE PROPERTY OF
M. C. Coonsed	Mr. A.	The same of the sa	. 10	THE PROPERTY.	120,00
4719 Sandra Lynn		A CANADA AND AND AND AND AND AND AND AND AN		The state of the s	1 ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) (
J. B. Ollchriet.	Lot 35	Park of March	60	2.00/24.	120.00
1711 Sandra Lerm			The second of th		
d. C. Clevenger	Lot 46	-	A SO	2.00/Ets	120.00
	granica granication from the second				9.44
2731 Sanden Lamb					120.00
					148.90
	4.6	Separate Control		The second	
. w. old					72.00
A dendrockers		THE PARTY	***		
					ent on the second of the

			The state of the s	Produktakak CO 4 Gasena
			Action	
	DESCRIPTION	FROMERON	COOR	TOPAL
	Country Club \$1,	Synches and the second second	COST	MOUNT
	Block 9	elandicheland von Grand ist in	American Marie Wall	en e
and the law, or.	iet 3	Anna and a state of the state o	42.00/£t.	\$ 60.00
				A CONTRACTOR OF THE CONTRACTOR
De B. Cennen	tot 31	76.38	2.00/2t.	152.70
The Degan		Carrent of the An <b>ti-C</b> ongillation of the Congillation of the Cong	er <del>ger</del> and gerand de <mark>de plante de la </mark>	Sant and the santage of the santage
David W. Goodrin	• Lot 32	72.16	2.90/ft.	144.32
79608 Hogen	ا در این از ا این از این این از ا			The second secon
. J. Wright	Dot 33	71.60	7 AA (a.	
COALL Boom			B. Call Etc.	143.20
Paris v. rogisti	The state of the s	at the same of the	4.00/St.	and the second second
Control Signal		May go of the grant property	The sales	139.44
William Sinclair, J	Lot 38		en gegen i en en opphysiologie (fra 17 m) et al. e. e. Monte territori mensagen (fra opphysiologie) best fra e	
3620 Hopen	Fe. Lot 35	• <b>60</b>	2.00/ft.	120.00
	ا محاصر المراجع	to and also was the Marine in the control of	Sugar and Sugar and Sugar and Sugar	and the second s
yene M. Miller	<b>Lot 36</b>	60	2.00/24	120.00
A CONTRACTOR OF THE CONTRACTOR	The constitution of the second constitution of	a prima i managan di di di kacamatan	A STATE OF THE PARTY OF THE PAR	a company of the same of the s
William B. Jones 1629 Royan Drive	Lot 37	60.	2.10/53	120.00
		A STATE OF THE STA		and make the same of
jahn A. Selshe, Sr. 3612 Hogan	Lot 38		2.00/2t.	150.00
	e dang serie i samatan	2,291.80	Jetal .	4583,60
	A CONTROL OF THE PROPERTY OF T	81.6	es : 22	- 6320
	and the second s	2260.2		4,520.40
			Markey conversely on a square property of	and the second
		A STATE OF THE PARTY OF THE PAR		Programme State St
				The second second
			en der eine der eine Der eine der	
The second secon	وسأري والمأبد مهدد أنهدار ها	A STATE OF THE STA	A STATE OF THE STA	100 mg
		A STATE OF THE SECOND S	المتعالم للتنفس الكسيسيان والتخارة الدانيون والماما	

# AND RIVERS TO LAW O. RIVERSHY

ROPERTY	PROPERTY	aliey	UEIT	TOTAL
ACT B	DESCRIPTION	PRONTAGE	COST	ANCUNT
A Section of the Control of the Cont	Country Club #1	•	•	A SALAN AND A
The second secon	Block 3		The second s	
Durtis W. Jackson 8745 Tem O'Shanter	Lot 1	80.5	\$2.00/ft.	47
James R. Mitchell	and the state of the state of the state of			The service of the section of the second
3741 Tan O'Shantar	ray of <b>Tes</b> 2.		3.00/ft.	
B. B. Copper	n na gairtí agus agus agus agus agus agus agus agus	4 Tight (1974)	3.00/st.	The second second
37 37 Ten O'Shantax		•		
Boy G. O'Meal	Lot 4	62	2.00/st.	134.00
3739 Ted O'Shanter				
Maory S. Born	Lot 5	62	2.90/ft.	124,00
3729 Zep O'Shenter			n de la companya del companya de la companya del companya de la companya del companya de la companya del companya de la compan	· · · · · · · · · · · · · · · · · · ·
yde B. West 27 Jan O'Sbanter	Lot 6	62	2.00/£t.	124.00
		liki di sembanya kenya ikebanya Kanganan	ig to the control of the control of the con-	The state of the s
Senry M. Landon 1721 Two O'Shanter	Company Eot 7	om traces <b>52</b> to superior in	المنظم المنظم والمنظم المنظم المنظ	124.10
F.Goldson	Lot &	終 ees (4) properties (1) for playing to perform the performance (1) performa	Washington Washington	
4719 Tem O'Shanter			2.00/2t.	144.00
Cohn Pt Carr	Lot 9		2.00/it.	124.00
3715. Ten O'Sheater.				
N. S. Green	Tot 10	Agen of Care 2	.00/ft.	124.00
711 De Olfonier		्रेत के देव के क्षेत्र के कि	A CONTRACTOR OF THE PARTY OF TH	
Tex B. Dulp	Lot 11	\$2	2.00/ft.	124.00
207 Pan O'Shapter		January Branch Control	Marine Property	
G. O. Petty	The second secon	90-6-	2.00/ft.	30.00
CTGS. Zin O'Spenter	Direction of the second of th			
A. Willoughby	Lot 13	72.5	2.00/Et	- MS.00-
A. Moore	and the second of the second o			
4907 Sandra Lynn	ANGER MANAGEMENT AND ANGEL STATE OF THE STAT	· · · · · · · · · · · · · · · · · · ·	2.00/£t.	120.00

	PAGESTY	kinder og sem sekker kan sem en			TOTAL
	December		PRONTAGE	2082	MODIT
	The Country C	MD 41			
	Black	3	en de la companya de La companya de la co		An
O. T. Ley	19t 15	er i seri siyar karangan karangan se	<b>6</b> 0	\$2.00/ft.	\$120,00
- Mil Agedra Lya	Barrier (1997) - Alle Gregoria (1998) - Alle	ing and the second seco		A service of the serv	
Denny D. Farr	Lot 15		72.5	2.00/25.	145.00
4925 Sandra Lym	g var	en e	65		101.00
R. W. Bley	iot 17	***	20.6	2.00/ft.	101.40
Sale Rendelm					
5342 Kismasha	Tot 19		60	2.70/24	120,00
				e entre	Andrew State of the State of th
Lemmel L. Bartor 6338 Kigmesha	n Lot 19		60	2.00/£t.	120.00
	and the second s		and the same of the same	remonate and the second second second	W-146
Digheton Bones 5334 Klamesha	Lot 20	es. The same of th	WO SHELL SHELL AND	2.00/45.	120.00
propo &. Atm		:	**		
30 Mighesty	od, Jr. Lot 21	ida Cana Amarin an Inglinia		2.00/ft.	120.00
Eugene F. Russel	1 Lot 22	¥ A	60	J.00/24.	120.00
\$324 Kinmaha	and the second s	n in the same of t			tangé concentration
Bobby Dings	lot 23		60	1.00/EN	120.00
5322 Kiemesha				A STATE OF S	The state of the state of
James P. Wilson	Lot 24	Section of the contract	1- F60	2.00/5%	120.00
15314 Elements		-			
Leo M. Roerner	Los 25	ing Army Programmer and the second se	50	2.00/ft.	120.00
314 Kingerba	and the second s	er medingering had der Miller betreit der State in der Sta Der State in der St Der State in der St		And the second second second second	and the second
Jimy R. Rouse	Lot 36		60	3.00/st.	120.00
E10 Kemb	Andrew State of the second				
2. Armetrong	Lot.10		<b>*******</b>	a.00/15_	140.00
		The State of			
hos Kinnesha	Lot 20	The second second	200	2.00/55	300.00
The second secon		では、 では、 では、 では、 では、 では、 では、 では、	7 846.7		3613.40
The second second					W. M. 110.
Bearing the Control of the Control o		A STATE OF THE PARTY OF THE PAR	1795.5		324100

			the take rafe	And Dark street	Children American	M. A. S. Samerake		خاذات بالمحاث بسابت			(4: x-2)		
3.7							••					:	
	T.T	SV.	13 1 1 2 T	79/1 T	يو منقشان ال	20		COUNTS - Shall	W 60 . P	Market		T WHEN	
. X		<b>.</b>	. 1814	<b></b>			- Table 1		az a			A.XAKE	
		,	11 19 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	are the appropriate to	2 - Table						A de la lace de lace de la lace de lace	1200	
فيال و كال	- 10	100	100		-					-		LYND	٠.
200		200	and the second				e∮y de πi	. 334	عصد	8.15.			

Service Control of the Control of th	entite, is judge ger have a secret with the matter out the termination of the second field	k gen i vivili vivil Vivili vivili vivil		
CPRRTY	PROPERTY DESCRIPTION	ALLRY PROMINGE	COST	TOTAL
	Country Club #1	and the second second section	a encente de a proprieta estra de particolor.	rate and -2 (Age to all and
	Block 7			To the state of
5020 Kignesha	Lot 1	100	\$2.00/st.	\$200.00
and the second second	• _			
3028 Kiamaha	Lot 2	<b>54.73</b>	2.00/ft.	109.46
C.C.Grogan	Lot 3	25	2.00/ft.	50.00
5032 Klamesha		And the second s		
Barold D. Redwi		24.0	2.00/ft.	49.60
R.W. Newland, Jr.	and the second s	and the second s		
1048 Elimeste	The state of the s	A STATE OF THE PARTY OF THE PAR	2.00/2±.	44.20
Vounte Labo	LANG 6	•	2.90/51.	30.00
& Strayborn	and the second s			The surface of the su
2732 Strayborn		55.37	2.00/ft.	110,74
a lio, Lauer	e general de la companya de la comp La companya de la companya del la company	<b>86.70</b>	* 2.00/ft.	177 .40
3728 Strayborn	And the second s	and the second of the second o		100 mg
724 Stravborn	The second second	83.08	2.00/ft.	166.16
	er en			
Masel Scirratt	Lot 10	72.35	3.90/2t.	145.70
3720 Strayborn		Action of the second of the se		to make the second of the second
Marris 1. O'Dell			2.00/ft.·	120,00
A Bismore	Jot 12	- 60	2.00/ft.	-120.00-
A SEXWEST		constant to		
rold J. Agetor		10	3.09/4t.	120.00
The state of the s				
1704 Streybern	and the state of t	The second of th	2.00/2t.	120.0G
	The state of the s		The state of the s	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Description Property Description Descripti	COST.	POTAL Ave. 1 c
Sales M.Ferry.Jr. Lot 19 60 19700 Strayhorn  D. M. Rowley Let 18 60 2610 Strayborn  C. L. Ounnell Lot 17 65.36 3616 Strayborn  Sol3 Strayborn		
Falth M.Ferry.Jr. Lot 19 60 2700 Strayborn  D. R. Rowley Lot 18 60 3610 Strayborn  O. L. Ounnell Lot 17 65.36 3615 Strayborn  Lot 19 71.38 3608 Strayborn  Lot 19 71.63 3608 Strayborn		Man of Mark "Contracts to with contracts and
2. E. Rovier Lot 18 60 2610 Strayborn  C. L. Gunnell Lot 17 65.36 2612 Strayborn  2612 Strayborn  2612 Strayborn  2613 Strayborn  2613 Strayborn  2608 Strayborn  2608 Strayborn  2608 Strayborn		
O. L. Ounnell Lot 17 3616 Strayborn  Sell Strayborn	\$ 2.00/Et.	\$120.00
G. L. Gunnell Lot 17 65.36 3616 Strayborn 26.3 Strayborn 26.3 Strayborn 26.4 Strayborn 26.5 Section 19 71.63 2608 Strayborn 26.5 Section 19 71.63 2608 Strayborn	2.00/2t.	120.00
3616 Strayborn  26. Anderson Let 19 26.13 Strayborn  Charles L. Nathis Let 19 3608 Strayborn  See 36 Strayborn  See 36 Strayborn	The second secon	
Sell Strayborn  Charles L. Nathis Lot 19  3608 Strayborn  Lot 20  2504 Strayborn	2.00/ft.	130.53
Charles L. Nathip Lot 19 71.63 3608 Strayborn Lot 30		
3608 Straybora  Lot 30 25790 55-31	Li A.M/tt.	JA2.76
3608 Straybora  Lot 30	2.00/ft.	141,26
3604		AMA
	2.00/81	1226
2 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	The state of the s	
	2.00/ft.	106.50
C.P. Wright, Sz.	2.00/er.	120.00
	والمان والمعاور فالإحراب ويالاوالمها والموالية	
Ployd J. Finnell Lot 23	2.00/ft.	90.00
745 Philips Lynn	to the state of th	The state of the s
Lot 24	2.00/et.	42,40
Tamon R. Brason		A control of the cont
James E. Boyco Lot 25	3.00/Eta.	110.20
NOO W. Barpar	2080/#4	105 32
		The state of the s
M. D. Bullock .Lot 27	2.00/ft.	100,00
The state of the s		
Claude D. Kinds Let 28	2.00/2t.	120.00
D. Jenes, Jr.		
323 Hopen	HOME TO	
	· · · · · · · · · · · · · · · · · · ·	

Con	PROPERTY ESCRIPTION BLock 7 Lot 30		50 50		2.00/21. 2.00/21. 2.00/21. 2.00/21.	120.00 120.00
James W. Bophes, Jr. 1627 Hogan  1621 Hogan  2631 Hogan  3635 Hogan	ntry Club #3 Block 7 Lot 30 Lot 32 Lot 32		50		\$2.09/et. 2.09/et. 2.00/et.	120.00 120.00 120.00
James W. Hoghes, Jr. 1627 Hogan 242. Hogan 3631 Hogan 3635 Hogan M. J. Irman, Jr.	Lot 30 Lot 33 Lot 33		50 50		2,00/et. 2,00/et.	120.00 120.00
James W. Boghes, Jr. 1627 Hogan Jr.B. Bassan 1631 Hogan 1635 Hogan 16 J. Irman, Jr.	Lot 30 Lot 31 Lot 33		50 50		2,00/et. 2,00/et.	120.00 120.00
1627 Hogan  P.R. Dinnel et  1621 Hogan  1631 Hogan  1635 Hogan  16. J. Irman, Jr.	Lot 12		59 60		2,00/et. 2,00/et.	120.00 120.00
P.R.Dinatet 3431 Hogan C. R. Brebern 3435 Hogan	Lot 33		50		2,00/et. 2,00/et.	120.00
3631 Mogan 36 R. Henbern 3633 Hogan	Lot 33		60		2,00/es.	120.00
3635 Hogan	Lot 33		50 60		2,00/es.	120.00
i. J. Imen, Jr.	Lot 36		60		/**a./	
701 Borns	Lot 34		50		/**a./	
	and the second second second		50		1. 誘動製造製造 コーラー	130,0
Myra A. Copeland	and the second second second			A Care Pine or war in		
3705 Hogan	A TOTAL CONTRACTOR OF THE CONT	10 M		A STATE OF THE STATE OF	ALL LEGISLANCE	on Manage in the State of the S
To D. Peters	Lot 35	er i Tyris jakaneisel Linka i Sala	60		·2.00/2t.	120.00
706 Roses	er legele de la companya de la comp La companya de la co	a sina ku ad	internal de la seconda de la s	. Marie e e estado. A estado e e estado e e e e e e e e e e e e e e e e e e e	gragie i propietie <del>appelle</del> Richard	
G. Devemport	Lot 36		60		2.00/2t.	120.00
Mr H. Wells	TAR TO THE STREET		The second of th	TO THE STATE OF TH	40.00/ft.	117.84
					34/46	
						114.20
				The State of the S		Marketon and September
3. R. Tyson 1725 Hogan	Lot 39		1.57	Mis hoters	-2.00/ft.	114.36
B. L. Ber					2. hn/ess	
			-48			MAN
C. W. Pourson, Jr.	Lot 41	2 4 2 3 7			2.09/FL	360.00
3793 Bogen			*** 344	17		MEN 713 91
	STATE OF THE STATE OF THE STATE OF	PER PER PER SE	عاليم ورثيبوني	1.4		100.30
apply the grade of			-	6.79		44435
Bade Land Control of Control of Control				Carrie Carrier		
		et i Brita		- 30		
		and the same	and the second second			

	TROIL OATES DE	DALE AND HARVE	Y STREETS	Jun 100 Co
	PROPERTY	ALLEY		
ANDPERTY	DESCRIPTION	PRONTAGE	COST	AMOUNT
	***		وهو راه مرور د او د دود د د د د د د د د د د د د د د	
	Casa View #15		and the same	
			\$ 2.00/ft.	4145 02
Marie A. Samples	Lot 1	77.91		\$155.82
AND BARREY		en en de para la proposición de la compansión de la compa	engalaga arata da ar	* 22 44
Cannon	Lot 3	. 60	2.00/ft.	120,00
4205 Harvey			The second secon	
J. W. McDonald	Lot 3	60	2.00/ft.	120.00
4210 Harvey				
D. G. Roush	iot 4	60	2.00/ft.	120.00
4214 Harvey	num – Andrew Congress of the C	الله الله الله الله الله الله الله الله	and the second s	and the same that the same
B. B. Jones	Let 5	60	2.00/ft.	120.00
4218 Harvey	· · · · · · · · · · · · · · · · · · ·			
J. J. McKelvey	· Lot 6	60	2.00/ft.	120.00
6222 Harvey	e la	garan kan gaga sang <b>geor<del>ina</del> e</b> kan sang sang	The second of th	
Mrs. Rose Siegler	Lot 7	60	2.00/ft.	120.00
4226 Harvey	er og som grænde er	egin og som græde en en en en en Statisk	The state of the s	
J. E. Bospodarsky	Lot 8	60	2.00/ft.	120.00
**** 4530 Hervey		Market Committee	ा १८ दल्ला १८ व्हेस्स	
			1 - 2.00/st.	120.00
Arrent H. Mose				A supplied to the supplied of the supplied to
		en e	And the Man	120.00
Modella Rever	e not sent out out of place the sent of the sent of the sent out of the sent o	Harager 1 to the control of the cont	en journal of the second of th	
A Company of the Comp	a jako karanta kan kan kan kan kan kan kan kan kan ka	geren ang serie ya sa sa ng pangganggang pengangganggangganggangganggangganggangga	al interpretagen i generalgebyt i meller bestelle gelegebyt. Her i var ingger i statel i tre i transition of the statel state. Her interpretagebyt by the statel is the statel state of the	Printed to the second
W. L. Gibson			and the second s	120.00
	The state of the s	A STATE OF THE STA		
. A. Booller	Late 13	20 CO	3.00/ft.	12.00
			a character of the control of the co	The state of the s
Denk. Ford		60	2.00/\$5.	120.00
#8300 Harvey		and the state of t	A Company of the Comp	
D. H. Gideon, Jr.	Lot 14	80	2.00/2t.	120.05
Marine 29 9 Bin service	•		Sant Sant Sant Sant	The state of the s

	PROPERTY DESCRIPTION	PRONTAGE	DRIT COST	AMOUNT
Con Cooksey	Lot 15	transfer of the same of the sa		
SALE SECTION			\$2.00/ft.	
Andre L. Jones	Sec 16	30	**************************************	100.00
R. K. Carpenter 4324 Harvey	<b>Lot 17</b>	60	2.00/Et.	120.00
B. L. Thomas	<b>Tot 18</b>	60	2.00/ft.	120.00
D. B. Preston	<b>Lot 19</b>	. 76	2.00/ft.	152,00
James M. Pike 4115 Scottsdale	Lot 30	78	2.00/et.	156.00
L. L. Dungan, Jr.	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	60.	2.00/24.	120.00
7. M. Standridge	Lot 22	<b>S</b> 0	3.00/2t.	77120.00
327 Ecotystale J. G. Taft	Sec. 23	<b>***</b>	2.00/24.	
323 Scottsdale  Edjual R. Surkhalter	<b>Lot 24</b>	e de la companya de La companya de la co	Committee Commit	
Alvin L. Maples, Jr.		and the second s	2.00/ft.	
A315 Acottedale	Lot 25	60. 60. 	2.00/24.	120.00
All Scottedale	iot 36	50	13 00\sF	120.00
Sign A. Cook	50t 37	-160	2.00/ft.	120.00
Verson Rice 4303 Reptiately			LOVE.	120.00
Dale Copen 19237 Scottsdale	Lot 29	THE PARTY OF THE P	AND THE PERSON NAMED AND POST OF THE PERSON NAMED AND PARTY OF THE	120,00
Sobby D. Metcal?	20t 30	100	2.00/21	130.00
Figuria Stocksbergy 4229 Scottsdale	Tan at Salar	The same of the sa	202/14	
4229 BOOKEGOETO	The state of the s	Same and the second		

	•		
	A San		
	Control of the contro	The second secon	
Code	ow 415 - Block 9		
PROPERTY	BRTY AL	Ley	TOTAL
大きな大きな大きない。 The Company of Application and the Company of the C		70.00	
A CHARLES OF THE STATE OF THE S	The same of the sa		A CONTRACTOR OF THE CONTRACTOR
A Service dala			V/10-10-10-10-1
		2.0	Ver = 130-30
222 toottedale	ta de la companya de	**************************************	
M. Rogillio Lo	£ 34	riginalista. Na singga sa singga sa singga sa sa singga sa sa singga sa singga sa singga sa singga sa singga sa singga sa s	V#12 + 120.00.
117 Spottsdale		The same of the sa	
	to the special state of		
	t. 35	60 2.0	V2t. 20,00
213 Scottadale	Company of the second	and the second	
Loyd Loyd Lo	<b>L 36</b>	60 2.0	/24. 120.00
202 Scottedale			
			L20.00
George N. Singleton Lo	The same of the same of the	Andrew Control of the	
The second secon	The same of the same of the same of the same of	A Section of the second section of the section of the second section of the section of the second section of the sectio	
		76.242.0	Vet152.48
Day Scot teda le		48.15	4/92 30
			and the second
	And the second s		
			The second second second
A CONTRACTOR OF THE PROPERTY O		STATE OF THE STATE	
		Friedrich 2007	
	A Commence of the Commence of	Marie and the second se	
	Contraction of the State of the State of State o	· 100 日本	The second secon
		The state of the s	
The state of the s	The second secon	STATE OF THE STATE	